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Part B

Mala who went near the olive (Veralu) tree and picked up some of olives in the morning. % from

the olives she picked up, was sold to a fruits shop. The remaining part was brought to the school. %

from the part which was brought to the school, was given to Meena who is her classmate and
the remaining part was given to Kasim.

L Express the number of olives which was brought to the school as a fraction.

Express the number of olives which was given to Meena as a fraction of total number of
olives.

If the number of olives given to Kasim is 20, find the total number of olives which was
picked up by Mala.

Find the number of olives given to Meena.

If an olive was sold to the shop for Rs. 2.00, find the total amount that was gained by
selling olives.

The annual income of Mr. Fernando is Rs. 1 500 000. The Island Revenue Department calculates
the mcome tax according to the following table.

Annual Income Tax percentage
First Rs 500 000 Tax free
Second Rs 500 000 4%

Third Rs 500 000 8%

Fourth Rs 500 000 12%

According to the above table,

Find the taxable income of Mr. Fernando.

Grade 10 - Mathematics |



https://pastpapers.wiki/

Find the tax changed on the first Rs 500 000 from taxable income.

1ii. Find the tax charged on the next Rs 500 000.

Find the total annual income tax Mr. Perera has to pay.

The annual income of Mr. Fernando is Rs 1 500 000" was written as a mistake. After recorrect it,
Rs. 75 000 has to be paid as income tax.

i Find the income tax which he has to pay more than earlier.

Find the taxable income for the income tax which he has to pay more than earlier.

03.a) A flower seller sold 550 white lotus and 300 Red lotus on a poya day.

1. Express the ratio among the number of white lotus and red lotus which were sold in
simplest form.
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Find the arc length of PQ

If a coloured ribbon is going to paste around the outer boundaries of the symbol, find the
minimum length of ribbon which is needed.

Find the area of one face of the symbol.

05.a) €={1,234,5,,7,89,10}
A=1{2,3,4,5,7}
B= {3, 6, 10}

1. Fill in the blanks according to the set notations.

Findn(A N B)’
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b)

The information about a written test which was held to give driving licenses, is given below.

The total number of participants for the test - 100

The number of males those who participated - 65

The number of males those who failed - 12

The number of females those who passed - 20

Represent the above information in the following Venn diagram.

— &

Those who failed

Shade the region which is represented "The female those who failed the test" in the above

Venn diagram.

If the persons those who passed the written test, are only called for the practical test, how
many persons can be faced for it.
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1. Write down the equation of the axis of symmetry.
v, Write down the range of x when the function is increasing negatively.

The distance between the two cities A and B is 400km. A train X leaves city A at 6.00 am and
reaches the city B at 11.00 a.m. After 2 hours, the train X leaves city B at the same uniform speed
towards city A. After 2 hours from it a train Y leaves city A travels at uniform speed of half the
uniform speed of trainX, towards city B. Calculate the time at which the two trains meet each
other.

ABCD is a square whose length of one side is ‘a’cm. A rectangular shaped plane figure is going to
make by increasing the length of sides AB and CD 3cm and reducing the length of the other two
sides by 2cm. A : B

0

1 . (m
D ' C

i. Write down the length and breadth of the rectangle in terms of a.
ii. Show that "area of the rectangle can be taken by a? + a — 6"
The diagram shows two concentric circles of radius R and r, and centre 'O’
1. If the area of the shaded part is A square units, Build up

an expression for A.

Make "R?" as the subject of the above expression.

IfA=462,r =7,and n = g , find the value of R.

While Kasun paid Rs 56 to buy 5 mangoes and 3 guavas, Dasun paid Rs 68 to buy 6 mangoes and
4 guavas.

If the cost of a mango is Rs x and the cost of a guava is Rs y, build up a pair of simultaneous
equations and solving them, find the cost of a mango and a guava separately.

Find LCMofx? + 4x+4 and (x — 2)(x + 2)

Simplify, ——— + ——

x24+4x+4  (x=2)(x+2)

M C
ABCD and APQR are two squares of length of a side x and y respectively. By giving reasons,
show that "the area of the shaded part is (x — y)(x + y)" using the knowledge of factors.
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Find the value of log; 81
il. Find the value of log, 8 + logs 125
A label is pasted around a curved surface of a cylindrical shaped milk tin covering it completely.

If the base radius (1) of the milk tin is 3.5cm and its height is 12.7cm, Find the area of the label to
the nearest whole number using logarithmic tables (Take = 3. 142)

Explain two congruency cases of a pair of triangles correctly.

il. In quadrilateral ABCD, AB = AD and the bisector of B A D is AC. Copy the given
diagram in your answer sheet and mark all the above information in it. A
If AC and BD diagonals intersected at T,

fii. Prove that AABT = AADT

Prove that AC and BD are perpendicular to each other.
Cc

A certain financial institute pays annual simple interest rate of 6% for savings accounts.
According to it,
i. How much annual interest is received for a person who has deposited Rs. 100?

How much annual interest is received for Namali who has deposited Rs 25 000 on 1% of
January 2012 in her savings account.

After few years, Namali got Rs 7500 as interest for her deposit. At which year end, She got
that interest.

60 students those who participated the morning assembly of Dhamma School, brought white
flowers. All the students those who brought yellow flowers, brought white flowers. 35 students
brought yellow flowers.

Complete the following Venn diagram according to the given information. (copy the Venn
diagram in your answer sheet)
£

[~ Those who brought white flowers

Those who brought yellow flowers

. According to the Venn diagram, auswer the followiug questious
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